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I.    Circle the correct answer:                           (5) 

a) 5 X 8                    -                          18                12                 40 

b)  320, 322, 324      -                        324               326               325 

c) Seventy six           -                        176                 67                 76 

d) F f i y t   n o e       -                    Fifty two      Fifty one        Fifty four  

e)   50     55       60    -                        65                 75                  65 

 

II.  Multiply :                   (4) 

a)   T  O                    b)   T  O                    c)   T  O                   d)  T  O 

     3   2                           5   3                            7  0                          6   1 

    x    4                            x  3                            x  2                           x  5 

  

 

III. Add these:                                                                                                                       (4)                                                                                                                           

a) 4 5 p    +    3 0 p   = ______                c)  ₹ 1 8  +   ₹ 5 0 = ______      

     b) ₹ 2 2    +     ₹ 2 0   = ______              d)  7 2 p  +   1 0 p = ______ 

 

IV.  Complete the pattern:                                                                                                  (3) 

          a) 42A          44B               46C              ___________    _____________.         

          b)                                                            ___________    _____________. 

          c)  380          370                360              ___________    ______________. 

 

V. Write serial counting :                  (2) 

281          290 

411          420 

 

VI. Put sign >,< or =                                                                                                           (4) 

                                                         

a)  2 x 2                 2 + 2                                c)   16 + 4              4 x 6                                      

       b)    1 rupee            100p                                d)   22 + 6              20 - 8 

 

 



 

 

VII. Look at the picture and answer the following:                                                          (5) 

 

 

 

 

 

 

 

 

 

 

 

i) There are ____________elephants in the picture. 

ii) ____________________  is holding one banana.  

iii) There is one _________________. ( lion / zebra) 

iv) There are total ____________number of animals. 

 

VIII.  Do these:                                                                                                                      (2) 

a)     T  O                                   b)       T   O 

     3   6                                              8    9 

+   2   3                                          -  4    5                            

                 

IX. Do these :                             (2) 

a) 23 x 0  = _______                                c)   65 x _______  =  65 

b) 5 x _______  = 25                                d)   4 x  _______   =  40 

X. Write number names:                                                                                                     (2) 

 

a) 113 - _____________________________________________________. 

 

b) 149 - _____________________________________________________. 

 

XI. Complete it:                                                                                                                   (2) 

a) If 1 cat has 4 legs, then 7 cats will have ______legs. 

b) If 1 box has 6 sweets, then 6 boxes will have _____sweets.  

 

Lion Elephant Monkey Rhino Hippo Tortoise Parrot Zebra Giraffe 

         



 

XII.  Match it:                                                                                                                     (4) 

a)   5 x 9                              ₹ 62   

b) ₹ 50 + ₹ 12                         56 

c)  Sixty five                          45 

d)  64  –  8                              65 

 

XIII.  How much money ?                                                                                                 (6) 

                                       

               

               ₹ 20                 ₹ 35                  ₹ 10              ₹ 45               ₹ 15                  

       Add these: 

   1.               +                             =    ₹ ______+  ₹ _____  =  ₹ ________ 

 

         2.             +                             =    ₹ ______+  ₹ _____  =  ₹ ________ 

 

       3.               +                             =     ₹ ______+  ₹ _____  =  ₹ ________ 

 

XIV.  Word problem sums:                                                                                                 (5) 

a) A classroom has 5 chairs . How many chairs will be there in 8 such classrooms ?      

Sol:- ____________________________________________________________ 

        _____________________________________________________________ 

       ______________________________________________________________ 

b)  There are 10 clothes in a cupboard. How many clothes will be there in 6 such 

 cupboards ? 

Sol :- _____________________________________________________________ 

         ______________________________________________________________ 

        _______________________________________________________________ 
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I.    Circle the correct answer:                           (5) 

a) 5 X 8                    -                          18                12                 40 

b)  320, 322, 324      -                        324               326               325 

c) Seventy six           -                        176                 67                 76 

d) F f i y t   n o e       -                    Fifty two      Fifty one        Fifty four  

e)  50     55       60    -                        65                 75                  65 

 

II.  Multiply :                   (4) 

a)   T  O                    b)   T  O                    c)   T  O                   d)  T  O 

     3   2                           5   3                            7  0                          6   1 

    x    4                            x  3                            x  2                           x  5 

               12 8                             159                             140                         305 

 

III. Add these:                                                                                                                       (4)                                                                                                                           

a) 4 5 p    +    3 0 p   =   75p                    c)  ₹ 1 8  +   ₹ 5 0 = ₹  68   

     b) ₹ 2 2    +     ₹ 2 0   =   ₹ 42                   d)  7 2 p  +   1 0 p =   82p 

 

IV.  Complete the pattern:                                                                                                  (3) 

          a) 42A          44B               46C               48D                 50E.         

          b)                                                            . 

          c)  380          370                360                350                 340. 

 

V. Write serial counting :                  (2) 

281 282 283 284 285 286 287 288 289  290 

411 412 413 414 415 416 417 418 419  420 

 

VI. Put sign >,< or =                                                                                                           (4) 

                                                         

a)  2 x 2        =            2 + 2                                c)   16 + 4     <       4 x 6                                      

       b)   1 rupee    =           100p                                  d)   22 + 6     >       20 - 8 

 

 

 

 



 

VII. Look at the picture and answer the following:                                                          (5) 

 

 

 

 

 

 

 

 

 

 

 

i) There are 2/two elephants in the picture. 

ii) Monkey_  is holding one banana.  

iii) There is one zebra. ( lion / zebra) 

iv) There are total 16/sixteen number of animals. 

 

VIII.  Do these:                                                                                                                      (2) 

a)     T  O                                   b)       T   O 

     3   6                                              8    9 

+   2   3                                          -  4    5                            

                  5    9                                             4   4 

 

IX. Do these :                             (2) 

a) 23 x 0  = 0                                   c)   65 x  1  =  65 

b) 5 x  5_  = 25                                d)   4 x  10  =  40 

X. Write number names:                                                                                                     (2) 

 

a) 113 – One hundred thirteen. 

 

b) 149 – One hundred forty nine. 

 

XI. Complete it:                                                                                                                   (2) 

a) If 1 cat has 4 legs, then 7 cats will have 28 legs. 

b) If 1 box has 6 sweets, then 6 boxes will have 36_sweets.  

 

 

Lion Elephant Monkey Rhino Hippo Tortoise Parrot Zebra Giraffe 

2 2 4 2 1 1 1 1 2 



 

XII.  Match it:                                                                                                                     (4) 

a)   5 x 9                              ₹ 62  b. 

b) ₹ 50 + ₹ 12                         56  d. 

c)  Sixty five                          45   a. 

d)  64  –  8                              65   c. 

 

XIII.  How much money ?                                                                                                 (6) 

                                       

               

               ₹ 20                 ₹ 35                  ₹ 10              ₹ 45               ₹ 15                  

       Add these: 

   1.               +                             =    ₹ 10  +  ₹  45  =  ₹ 55 

 

        2.             +                             =    ₹ 20  +  ₹ 35   =  ₹ 55 

 

       3.               +                             =     ₹ 15 +  ₹ 10  =  ₹ 25 

 

XIV.  Word problem sums:                                                                                                 (5) 

a) A classroom has 5 chairs . How many chairs will be there in 8 such classrooms ?      

Sol:-        1 classroom =  5 chairs 

              8 classrooms = 5 x 8  

                            Ans  = 40 chairs 

b)  There are 10 clothes in a cupboard. How many clothes will be there in 6 such 

 cupboards ? 

Sol :-       1 cupboard   =  10 clothes 

                6 cupboards =  6 x 10 

                          Ans    =  60 clothes         


